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CONGRUENCE OF TRIANGLES

lllustrations

1. Two line segment AB and CD are congruent.

If AB =6 cm, then what is the length of CD?

o Watch Video Solution

2. Two rectangles ABCD and EFGH are congruent.

If the length of the rectangle ABCD is 12 m and its perimeter is 40 m,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AbIBNGmHzNpk
https://dl.doubtnut.com/l/_vJq9Tcs82dH5

find the length and breadth of rectangle EFGH.

o Watch Video Solution

3. Measure and find whether the given pair of segment is congruent

or not.
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o Watch Video Solution

4. Measure and find which pair is congruent.



https://dl.doubtnut.com/l/_vJq9Tcs82dH5
https://dl.doubtnut.com/l/_s9vmUzcAtrBJ
https://dl.doubtnut.com/l/_3czYMWcD81RT

| o Watch Video Solution

5. Measure and find which pair is congruent.
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o Watch Video Solution

6. Measure and find which pair is congruent.
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o Watch Video Solution



https://dl.doubtnut.com/l/_3czYMWcD81RT
https://dl.doubtnut.com/l/_s6OUhSJ2oSul
https://dl.doubtnut.com/l/_Fo1N67oQrUnk

7. Measure and find which pair is congruent.

° Watch Video Solution

8. Draw a AABC with AB =4 cm, BC = 6 cm and CA = 3 cm. Draw
another APQR with PQ = 4 cm, QR = 6 cm and RP = 3 cm. State

about the congruency of triangles.
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c . °

° Watch Video Solution



https://dl.doubtnut.com/l/_pA6L6Qn8gtoL
https://dl.doubtnut.com/l/_OvIO0sc96eyx
https://dl.doubtnut.com/l/_qPjNgCGPUlQM

9.Draw a AABC with AB =6 cm, CB =4.4 cm and /B = 60°. Draw
another AQPR with QP =6 cm, PR =4.4 cm and ZP = 60°. Check

wether they are congruent or not.

E

° Watch Video Solution

10. Draw a AABC with BC=5.8cm, /B = 50° and ZC = 45°.
Draw another APQR with QR=58 cm, Z/Q = 50° and ZR = 45°.

Are they congruent?

o Watch Video Solution



https://dl.doubtnut.com/l/_qPjNgCGPUlQM
https://dl.doubtnut.com/l/_sqDM7oPxS1pX

1. Draw a AABC with ZC = 90°, hypotenuse Ab = 5 cm and side
AC = 4 cm. Also, draw a APQR with ZR = 90°, hypotenus PQ = 5
cm and side PR =4 cm.

State about the congruency of triangles.

° Watch Video Solution

12.1n figure, AB || DC and AB = CD.

A . a
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https://dl.doubtnut.com/l/_sqDM7oPxS1pX
https://dl.doubtnut.com/l/_nBzvq5SWnhll
https://dl.doubtnut.com/l/_6YCt9ThRqG2Q

Is /BAC = ZDCA? Why?

o Watch Video Solution

13.In figure, AB || DC and AB = CD.

4 [

H {

Is AABC = ACDA by SAS congruence condition?

o Watch Video Solution



https://dl.doubtnut.com/l/_6YCt9ThRqG2Q
https://dl.doubtnut.com/l/_06CznH1JaxQw

14. In figure, AD bisects /A and AD 1 BC.

f \

Is AADB = ADAC by ASA congruence condition?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ay1f7bWsljZF

15.1n figure, AD bisects /A and AD | BC.

s BD = CD? Why?

o Watch Video Solution

16. To figure, AX bisects /BAC and /BDC.

Find the third pair of corresponding parts to ensure that


https://dl.doubtnut.com/l/_iTpq6bNdWAuD
https://dl.doubtnut.com/l/_f5ru5xVwztIx

AABD =~ AACD by ASA congruence criteria.

o Watch Video Solution

Solved Examples


https://dl.doubtnut.com/l/_f5ru5xVwztIx

1.In the given figure, we have PQ = SR and Pr = SQ. Prove that:
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APQR =~ ASRQ

o Watch Video Solution



https://dl.doubtnut.com/l/_7T9GEc8jDjYr

2.In the given figure, we have PQ = SR and Pr = SQ. Prove that:

I '
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/PQR = /SRQ

° Watch Video Solution

3.In the given figure, we have C is the mid-point of AB and DA = DB.

Prove that: /DCA = Z/DCB.


https://dl.doubtnut.com/l/_hG1D1wUipikP
https://dl.doubtnut.com/l/_dleHCzLjgkNb

° Watch Video Solution

4.The diagonals of a parallelogram bisect each other.

o Watch Video Solution

5.In the adjoining figure, AABC is an isosceles triangle in which AB

= AC and AD is the bisector of ZA. Prove that:


https://dl.doubtnut.com/l/_dleHCzLjgkNb
https://dl.doubtnut.com/l/_v5wQxt2rVNTU
https://dl.doubtnut.com/l/_BUs9Gvi6kveV

I

AADB =~ AADC

o Watch Video Solution

6. In the adjoining figure, AABC! is an isosceles triangle in which AB

= AC and AD is the bisector of ZA. Prove that:


https://dl.doubtnut.com/l/_BUs9Gvi6kveV
https://dl.doubtnut.com/l/_zTXsVpw4pUea
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/B = /C

o Watch Video Solution

7.1n the adjoining figure, AABC is an isosceles triangle in which AB

= AC and AD is the bisector of ZA. Prove that:


https://dl.doubtnut.com/l/_zTXsVpw4pUea
https://dl.doubtnut.com/l/_9dk8qdfQbk24

BD=CD

o Watch Video Solution

8. In the adjoining figure, AABC! is an isosceles triangle in which AB

= AC and AD is the bisector of ZA. Prove that:


https://dl.doubtnut.com/l/_9dk8qdfQbk24
https://dl.doubtnut.com/l/_godPZ7iFR9U9

AD | BC

° Watch Video Solution

9.In the adjoining figure, AABC! is an isosceles triangle in which AB

= AC. If BM 1 AC and CN 1 AB, prove that:


https://dl.doubtnut.com/l/_godPZ7iFR9U9
https://dl.doubtnut.com/l/_bH1QU50cXefh

ABMC =~ ACNB

i i

o Watch Video Solution

10. In the adjoining figure, AABC is an isosceles triangle in which

AB=AC.If BM | AC and CN 1 AB,prove that:


https://dl.doubtnut.com/l/_bH1QU50cXefh
https://dl.doubtnut.com/l/_bNs35cFtEuxj

M .

BM =CN

° Watch Video Solution

11. In the given figure, KK' and LL are equal and perpendicular to AC.

Show that AKK'M and ALL’M are congruent.


https://dl.doubtnut.com/l/_bNs35cFtEuxj
https://dl.doubtnut.com/l/_aRppU0WpEv5G

o Watch Video Solution

122 In the figure, it is given that LM = NM,

ML 1 PQ and MN L PR.Prove that /ZLPM = /ZNPM.


https://dl.doubtnut.com/l/_aRppU0WpEv5G
https://dl.doubtnut.com/l/_4rXpZy96LXqA

° Watch Video Solution

13. In the adjoining figure, AABC is an isosceles triangle in which

AB = AC and AD is a median.


https://dl.doubtnut.com/l/_4rXpZy96LXqA
https://dl.doubtnut.com/l/_UolfAVbUfrCS

Prove that:

AADB = AADC

o Watch Video Solution

14. In the adjoining figure, AABC is an isosceles triangle in which

AB = AC and AD is a median.


https://dl.doubtnut.com/l/_UolfAVbUfrCS
https://dl.doubtnut.com/l/_O0ZKdD6VJXlQ

i

Prove that:

/BAD = /CAD

o Watch Video Solution

15. Show that the diagonals of a rhombus bisect each other at right

angles.

o Watch Video Solution

16. If the opposite sides of a quadrilateral are equal, prove that the

quadrilateral is a parallelogram.


https://dl.doubtnut.com/l/_O0ZKdD6VJXlQ
https://dl.doubtnut.com/l/_gHp8FpTWxzeZ
https://dl.doubtnut.com/l/_HhJMNJSvjsXI

° Watch Video Solution

17. In both the given figures, AB = AC and DB = DC. Prove that

LABD = LACD.

o Watch Video Solution

18. In the given figure, triangles ABC and DCB are right angled at A

and D respectively and AC = DB, then prove that ZACB=/DBC.


https://dl.doubtnut.com/l/_HhJMNJSvjsXI
https://dl.doubtnut.com/l/_IDMulUOUUNhA
https://dl.doubtnut.com/l/_aVOhqJjhWnJP
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o Watch Video Solution

19. In the given figure, AB = AC and AD = AE. Prove that:

AABD =~ AACE
A

o Watch Video Solution



https://dl.doubtnut.com/l/_aVOhqJjhWnJP
https://dl.doubtnut.com/l/_ifl65Dujji2h

20. In the given figure, AB = AC and AD = AE. Prove that:

BD = CE
A

° Watch Video Solution

21. AB is a line segment. AX and BY are two equal line segments
drawn on opposite sides of line AB such that AX | | BY If
AB and XY intersect each other at P, prove that APX =~ BPY

(ii) AB and XY bisect each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_ymAytxR8BcgS
https://dl.doubtnut.com/l/_J0jWM5xvgb4v

22.Show that the given triangles are congruent.
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° Watch Video Solution

23. If the diagonals of a quadrilateral bisect each other; then the

quadrilateral is a parallelogram.

o Watch Video Solution

24. In the given figure, if S is the angle bisector of ZQPR then,

show that APQS =~ APRS.


https://dl.doubtnut.com/l/_na7w5zWYrynI
https://dl.doubtnut.com/l/_YB1NIXfjrasL
https://dl.doubtnut.com/l/_HHbxXXHYzgiL

Q

o Watch Video Solution

Ncert Section Exercise 7 1

1. Complete the following statements: (a) Two line segments are

congruent if .(b) Among two congruent angles, one has a

measure of Q{70"0}0

Watch Video Solution


https://dl.doubtnut.com/l/_HHbxXXHYzgiL
https://dl.doubtnut.com/l/_g4DV1zrRGFWJ

2. Complete the following statements: (a) Two line segments are

congruent if . (b) Among two congruent angles, one has a

measure of l"""F"'{7O"o}°

Watch Video Solution

3. Complete the following statements: (a) Two line segments are

congruent if . (b) Among two congruent angles, one has a

measure of l""""'{70"0}0

Watch Video Solution

4. Give any two real-life examples for congruents shapes.

° Watch Video Solution

5.If ““\Delta ABC \cong \Delta FEDo

Watch Video Solution


https://dl.doubtnut.com/l/_FzKwspINW8zX
https://dl.doubtnut.com/l/_g4gvbl6ey9Nc
https://dl.doubtnut.com/l/_0a66Prggj5lZ
https://dl.doubtnut.com/l/_5Dqqwl8jVVEd

&2

6.1 ““\Delta DEF \cong \Delta BCAo

Watch Video Solution

&2

7.1 ““\Delta DEF \cong \Delta BCA°

Watch Video Solution

&

8.1 " “\Delta DEF \cong \Delta BCAo

Watch Video Solution

&

9.1 "“\Delta DEF \cong \Delta BCA°

Watch Video Solution

Ncert Section Exercise 7 2


https://dl.doubtnut.com/l/_5Dqqwl8jVVEd
https://dl.doubtnut.com/l/_RUnsAVdTFZdI
https://dl.doubtnut.com/l/_hd0XhhtV2xhW
https://dl.doubtnut.com/l/_Ee72oFnm3hwL
https://dl.doubtnut.com/l/_f0SMswONB4QJ

1. Which congruence criterion do you use in the following? (a) Given:

&2

AC = DF

o Watch Video Solution

2. Which congruence criterion do you use in the following? (a) Given:

&2

AC = DF

o Watch Video Solution

3. Which congruence criterion do you use in the following?
Given: /ZMLN = /FGH, /ZNML = /HFQG,

ML = FG


https://dl.doubtnut.com/l/_Qk343ovE8txz
https://dl.doubtnut.com/l/_2cgcJaIf44Tg
https://dl.doubtnut.com/l/_rcYMpQUBqBoi

So, ALMN =~ AGFH

L

° Watch Video Solution

4. Which congruence criterion do you use in the following?
Given: EB = BD,
AE = CB,

LA =/C =90°.


https://dl.doubtnut.com/l/_rcYMpQUBqBoi
https://dl.doubtnut.com/l/_1i61XvdJB46t

So, AABE =~ ACDB
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o Watch Video Solution

5. You want to show that |:‘}:\Delta ART \cong \Delta PEN,

° Watch Video Solution

6. You want to show that |;51'\Delta ART \cong \Delta PEN,

| e


https://dl.doubtnut.com/l/_1i61XvdJB46t
https://dl.doubtnut.com/l/_TiKYEispAOe7
https://dl.doubtnut.com/l/_bOdM1lfTxaYx

| &J Watch Video Solution

7. You want to show that |;E.'\Delta ART \cong \Delta PEN,

o Watch Video Solution

8. You want to show that |;‘:.'\Delta ART \cong \Delta PEN,

o Watch Video Solution

9. You want to show that |:‘}"\Delta ART \cong \Delta PEN,

o Watch Video Solution

10. You want to show that |:‘1'\De|ta ART \cong \Delta PEN,

o Watch Video Solution



https://dl.doubtnut.com/l/_bOdM1lfTxaYx
https://dl.doubtnut.com/l/_o76jgNbaZun9
https://dl.doubtnut.com/l/_BLYMcph0DzBo
https://dl.doubtnut.com/l/_Z6O4MSEzsYNK
https://dl.doubtnut.com/l/_tOS865kI3yed

11. You want to show that |‘_'E\Delta ART \cong \Delta PEN,

o Watch Video Solution

12. You have to show that . In the following proof, supply the missing

reasons

° Watch Video Solution

13.In l;f}\DeIta ABCO

Watch Video Solution

14. In the figure, the two triangles are congruent. We can write

ARAT = 7


https://dl.doubtnut.com/l/_tOS865kI3yed
https://dl.doubtnut.com/l/_4bi30udW8xi4
https://dl.doubtnut.com/l/_q309ZrnK05LD
https://dl.doubtnut.com/l/_h7EubIvV2ZNd
https://dl.doubtnut.com/l/_CFEqPz2DNZhe
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o Watch Video Solution

15. Complete the congruent statement:

} ."_.. g 4 !..L__,. = | -I
B— ' J': r
'\-._. l I I|
- ¢ |r
- .
i

ABCA =~ ? AQRS =~ 7

o Watch Video Solution

16. If the area of two similar triangles are equal then the triangles are

congruent.


https://dl.doubtnut.com/l/_CFEqPz2DNZhe
https://dl.doubtnut.com/l/_H9l04Oq091CY
https://dl.doubtnut.com/l/_EaSIdbvh4GEv

o Watch Video Solution

17. In a squared sheet, draw two triangles of equal areas such that (i)
the triangles are congruent. (ii) the triangles are not congruent. What

can you say about their perimeters?

o Watch Video Solution

18. Draw a rough sketch of two triangles such that they five pairs of

congruent parts but still the triangles are not congruent.

o Watch Video Solution

19. If I;E\Delta ABC°

Watch Video Solution


https://dl.doubtnut.com/l/_EaSIdbvh4GEv
https://dl.doubtnut.com/l/_DA5QhaIKCyjZ
https://dl.doubtnut.com/l/_KAbAnA7Xribj
https://dl.doubtnut.com/l/_e5Lxs5IUNeyE

20. Explain,why AABC = AFED
A

[ % F

- . i

° Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. If hypotenuse and an acute angle of one right triangle are equal to

the hypotenuse and an acute angle of another right triangle, then the

triangles are congruent

A. ASA

B. SSS


https://dl.doubtnut.com/l/_HYAo8Vajqq5x
https://dl.doubtnut.com/l/_EITEObLAOpvH

C. SAS

D. RHS

Answer: D

o Watch Video Solution

2. Angle Angle Side (AAS) Congruence - If any two angles and a non-
included side of one triangle are equal to the corresponding angles
and side of another triangle; the two ttriangles are congruent.

A.SSS

B. RHS

C. SAS

D. ASA

Answer: D



https://dl.doubtnut.com/l/_EITEObLAOpvH
https://dl.doubtnut.com/l/_00Ua24dm4NRF

| o Watch Video Solution

3. If AC = BD, AD = BC, then which of the following statements is

meaningfully written?

o

I-

A K

A.AABC = AABD
B.AABC =~ ABAD
C.AABC =~ ABDA

D.AABC =~ AADB

Answer: B



https://dl.doubtnut.com/l/_00Ua24dm4NRF
https://dl.doubtnut.com/l/_3UaozWqnP48o

| ° Watch Video Solution

4. Theorem 7.4 (SSS congruence rule) : If three sides of one triangle
are equal to the three sides of another triangle, then the two triangles
are congruent.

A. SAS

B. SSS

C.RHS

D. ASA

Answer: B

o Watch Video Solution

5. Which angle is included between the side DE and EF of ADEF?


https://dl.doubtnut.com/l/_3UaozWqnP48o
https://dl.doubtnut.com/l/_pj7oKaaRUWmv
https://dl.doubtnut.com/l/_4ebExZGVWXNp

A . ZD

B.ZE

C.LF

D. can't be determined

Answer: B

o Watch Video Solution

6.
Ankita wants to prove AABC =~ ADEF using SAS. She knows
AB = DE and AC = DF
.What additional piece of information does she need ?

A /P = /D

B.ZQ = 4D

C.LP =/F


https://dl.doubtnut.com/l/_4ebExZGVWXNp
https://dl.doubtnut.com/l/_piIkzRbMj9EO

D.ZR = /F

Answer: C

o Watch Video Solution

7. Which congruence criterion do you use in the following? (a) Given:

&

AC = DF

A. ASA rule

B. SAS rule

C.RHS rule

D. SSS rule

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_piIkzRbMj9EO
https://dl.doubtnut.com/l/_ntkxtvrEQlnB
https://dl.doubtnut.com/l/_3l86l9lUmFLl

8. By applying ASA congruence rule, it is to be established that

L&
\Delta ABC \cong \Delta QRP

e DF=MN
* DF=MP
e DE=MN

® None of these

Answer: B

o Watch Video Solution

9. Which congruence criterion do you use in the following? (a) Given:

L‘
l""“Ac =DF

A. SAS rule

B. SSS rule

C.ASA rule

D. RHS rule


https://dl.doubtnut.com/l/_3l86l9lUmFLl
https://dl.doubtnut.com/l/_qJRcvUBMUu6g

Answer: D

° Watch Video Solution

10. By which rule AABD =~ AACD

A.SSS

B. ASA

C. SAS

D. RHS


https://dl.doubtnut.com/l/_qJRcvUBMUu6g
https://dl.doubtnut.com/l/_mGmMrr8tPd7G

Answer: A

o Watch Video Solution

n By which rule APQR =~ ARSP

A.SSS

B. ASA

C. SAS

D. RHS

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_mGmMrr8tPd7G
https://dl.doubtnut.com/l/_XGIU4hcmLrsc

12. By which rule AABD =~ ABAC

A.SSS

B. ASA

C. SAS

D. RHS

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XGIU4hcmLrsc
https://dl.doubtnut.com/l/_bny14bOK934W
https://dl.doubtnut.com/l/_VPDSkoZDqhVA

13. By which rule is APSQ = APSR.

A.SSS

B. ASA

C. SAS

D. RHS

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VPDSkoZDqhVA

14. In the given figure, If AB and CD bisect each other at O, then

AAOC is congruent to

L

i

A.ABOD
B.ADOB
C.ADOB

D. ABDO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Lui2S1NKBcO2

15.In the given figure, BD and CE are the altitudes of triangle ABC such

that BD = CE, then

H

ACBD is congruent to

A.ACBE
B.ABCE
C.ABEC

D.AECB


https://dl.doubtnut.com/l/_YkByCaKkWCwT

Answer: B

o Watch Video Solution

16. In the given figure, BD and CE are the altitudes of triangle ABC such

that BD = CE, then

A. ZEBC

B.ZECB

C.LABD


https://dl.doubtnut.com/l/_YkByCaKkWCwT
https://dl.doubtnut.com/l/_Qz0sLtNf3e1i

D.ZDBC

Answer: A

o Watch Video Solution

17. In the given figure, if ray Az bisects /BAD and /DCB, then

ABAC is congruent to

A.AADC

B.ADCA

C.ADAC

D.AACD


https://dl.doubtnut.com/l/_Qz0sLtNf3e1i
https://dl.doubtnut.com/l/_IqdfWw2IYzKo

Answer: C

° Watch Video Solution

18.If for A ABC and A DEF, the correspondence CAB <> EDF

gives a congruence, then which of the following is not true?

A.AC =DE

B.AB = EF

CLA=/D

D.LC = ZE

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IqdfWw2IYzKo
https://dl.doubtnut.com/l/_jclIRz9Wb4Lt

19. By which congruency criterion, APQR = APQS

A.RHS

B. ASA

C.SSS

D. SAS

Answer: C



https://dl.doubtnut.com/l/_XQK7b0B1eiZA

[ & Watch Video Solution ]

20. Which of the following is not a criterion for congruence of triangle
?

A. AAA

B. SSS

C.SAS

D. ASA

Answer: A

o Watch Video Solution

21.If APQR is congruent to ASTU in the given figure, then what is

the length of TU?


https://dl.doubtnut.com/l/_XQK7b0B1eiZA
https://dl.doubtnut.com/l/_Zu0NkZOhHYSf
https://dl.doubtnut.com/l/_kJHF6LMunB2G

A.5cm

B.6cm

C.7cm

D. can't be determined

Answer: B

o Watch Video Solution

22.1f A ABC and A DBC are on the same base BC, AB = DC and AC

= DB (Fig. 6.21), then which of the following gives a congruence


https://dl.doubtnut.com/l/_kJHF6LMunB2G
https://dl.doubtnut.com/l/_NtWhzAYP4ZNt

relationship?

A.AABC =~ ADBC

B.AABC =~ ACBD

C.AABC =~ ADCB

D.AABC =~ ABCD

Answer: C

o Watch Video Solution

23.1f AABC = APRQ,then /B and PQ are respectively equal to


https://dl.doubtnut.com/l/_NtWhzAYP4ZNt
https://dl.doubtnut.com/l/_CuE9brpW8PtF

A.ZP and AC

B.ZR and BC

C.ZR and AC

D.ZQ@Q and AB

Answer: C

o Watch Video Solution

24. In the adjoining figure, if AB = AD and CB = CD, then whch of the

following is correct?


https://dl.doubtnut.com/l/_CuE9brpW8PtF
https://dl.doubtnut.com/l/_wM1xmkKtlUTB

A.AABC =~ AADC

B./BCA = Z/DCA

C.LADC = LABC

D. All of these

Answer: D

° Watch Video Solution

25. In the given figure, if AOAP =~ AOBQ, then which of the

following is not true?

F


https://dl.doubtnut.com/l/_wM1xmkKtlUTB
https://dl.doubtnut.com/l/_yjQWhdk9IR4b

A.AO =BO

B.AP=BQ

C.PO=BO

D.ZAPO = ZBQO

Answer: C

o Watch Video Solution

26. If AEFG = APQR and GE is the hypotenuse in AEFG, then

right angle in APQR is

A. LP

B. /Q

C.ZR

D. can't be determined


https://dl.doubtnut.com/l/_yjQWhdk9IR4b
https://dl.doubtnut.com/l/_GgqTt8hv8rWE

Answer: B

° Watch Video Solution

27.1n the given figure, /A and ZC are right angles and AB = CD. Then

/ZBDC equals to

A.ZBCD

B.ZABD


https://dl.doubtnut.com/l/_GgqTt8hv8rWE
https://dl.doubtnut.com/l/_PqvVVs4VRNPZ

C.ZCBD

D.ZADB

Answer: B

° Watch Video Solution

28. AABC and ADEF are congruent triangles by SSS congruence

condition. Find the value of x and y respectively.

4 L

g L g

A. 42°,25°
B.32°,40°
C.50°, 32°

D.45°, 37°


https://dl.doubtnut.com/l/_PqvVVs4VRNPZ
https://dl.doubtnut.com/l/_Dxp2nDjBSWxO

Answer: C

o Watch Video Solution

29.AABC =2 AXYZ,/A =50°, /B = 60° then measure of /Z is

A.50°

B.60°

C.70°

D. can't be determined

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Dxp2nDjBSWxO
https://dl.doubtnut.com/l/_WZUsij45B3P9

30.In the given figure,PQ = .

o |
15 T — ;

P
L= J¥ qsp*

A

M
A. MN
B.LM
C.LN
D. QR

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_23OyT5BxHM0p

31. In the given figure, ADEF =~ ACAB. Which of the following is

not correct?

A.DE =CA
B. AB = DF
C.LABC = Z/EFD

D.DE | | AC

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wHW3HO374xct
https://dl.doubtnut.com/l/_kbyVohhn395d

32. In the given figure, PQ = SR and PQ | | SR. Then which of the

following is true?

A.APQR ~ ARSP

B.APQR =~ ASRP

C.APQR =~ APRS

D.APQR =~ APSR

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kbyVohhn395d

33. In the figure,

AABD =~ AACD, ZACD = 75° and LZADC = 45° then, ZADB

equals
A ’ -
=
K &
A.40°
B.140°

C.45°


https://dl.doubtnut.com/l/_kbyVohhn395d
https://dl.doubtnut.com/l/_QVHQCrUwmWQb

D.75°

Answer: C

° Watch Video Solution

34. APR@ and ALMN are congruent in any correspondence. PQ =5
cm, PR =4 cm and ZP = 30°. If LM = 5 cm and QR = MN, then LN
equals

A.3cm

B.5cm

C.4cm

D. can't be determined

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QVHQCrUwmWQb
https://dl.doubtnut.com/l/_twVic06jhh5x

35. Observe the figure and choose the correct relation from the

following.
-l I— - g |||
K -
|.‘;: .. i‘;
A
:|'!l. 5
A
="
i

A.AAPB =~ APDC

B.AABP =~ APCD

C.LABP = /DCP

D.AAPB =~ ACPD

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_twVic06jhh5x
https://dl.doubtnut.com/l/_7eAUgQFMJHJW

36.In the given figure, A = APQR

A. QRD

B.DRQ

C.RQD

D. both (b) and (c)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7eAUgQFMJHJW
https://dl.doubtnut.com/l/_CTgcFG3FUJ5S

37. In the adjoining figure, if ABC is a triangle in which AD is the

bisector of ZA.If AD | BC, then

A. AABC'is an isosceles triangle
B. AABC(C is an equilateral triangle
C. AABC'is an scalene triangle

D.BD =AC

Answer: A


https://dl.doubtnut.com/l/_o1ZmXS3mzlI5

o Watch Video Solution

38. In the adjoining figure, ABC is an isosceles triangle in which AB =

AC. If E and F be the midpoints of AC and AB respectively, then

A.BE=CF

B./BFC = ZCEB

C.BF=CE

D. All of these


https://dl.doubtnut.com/l/_o1ZmXS3mzlI5
https://dl.doubtnut.com/l/_S51u8EmsvUyc

Answer: D

° Watch Video Solution

39. In the adjoining figure, P and Q are two points on equal sides AB

and AC of a isosceles triangle ABC such that AP = AQ, then

A

A

A.BQ = CP

B. /ABQ = /ACP


https://dl.doubtnut.com/l/_S51u8EmsvUyc
https://dl.doubtnut.com/l/_zEwOoYsICIlp

C./BAQ = /CPA

D. both (a) and (b)

Answer: D

o Watch Video Solution

40. In the given figure, A ABC is an isosceles triangle in which AB -

AC. If AB and AC are produced to D and E respectively such that BD =


https://dl.doubtnut.com/l/_zEwOoYsICIlp
https://dl.doubtnut.com/l/_Y6FW3QJ0sctr

CE, prove that BE = CD. Hint. Show that A ACD = /A ABE.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_Y6FW3QJ0sctr

41.If AACB = ADFE,then find the measure of ZF.
A [

b’ (57 +16)°

A.4°

B.96°

C.100°

D.60°

Answer: B

° Watch Video Solution

42.If ABCD is a square, X is the mid point of AB and Y is the mid point

of BC, then which of the following is NOT correct?


https://dl.doubtnut.com/l/_pDsb9ny85kU7
https://dl.doubtnut.com/l/_2Tpx2FwRJRKM

A AADX =~ ABAY

B.Z/DXA = /AYB

C.LADX = ZBAY

D. DX =BY

Answer: D

o Watch Video Solution

43. In the given figure, AABO and ACDO are congruent. The value

of xand y are


https://dl.doubtnut.com/l/_2Tpx2FwRJRKM
https://dl.doubtnut.com/l/_JvLyct7jDk3U

Gy + 2} cm

A.15cm, 12 cm

B.10 cm, 8 cm

C.5cm,6cm

D.6cm,5cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JvLyct7jDk3U
https://dl.doubtnut.com/l/_cmv0lami4k0i

44.Find the value of x and y respectively in the given figure.

A 58°, 76°

B.54°, 60°

C.38°,20°

D.42°, 36°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cmv0lami4k0i

45. Find the value of x and y respectively, if AABC =~ AQRP.
F

Q b cm [

A.15°,30°

B.21°, 40°
C.30°, 15°

D.40°,21°

Answer: D

o Watch Video Solution

Match The Following


https://dl.doubtnut.com/l/_cmv0lami4k0i
https://dl.doubtnut.com/l/_3x7V9nGkHNJC
https://dl.doubtnut.com/l/_9UQImD4JamQr

1. Match the figures in List I, with their corresponding c9ongruence

criterion in List Il.

List-1 List-11
i1 A (1) ASA congruency
H Fl |
() A (2} RHS congruency
. (]
i L

(3) 555 congruency

5] (4] SAS congruency

A.P-2,Q-4,R-1,S-3

B. P-3, 0-1,R-2,5-4


https://dl.doubtnut.com/l/_9UQImD4JamQr

C.P-2,0-3,R-1,5-4

D.P-3,Q-4,R-2, S-1

Answer: C

° Watch Video Solution

2. Match the following using the adjoining figure in which

AAOB = ADOC.

4 7 H{i "
b
()
L
L 3{;—} I
List-1 List-11
('} ZAOH - (1) 80
() 20D = (2) 24°
(R} SO0 = (3} hb"
5y Z0CA = 4y 76


https://dl.doubtnut.com/l/_9UQImD4JamQr
https://dl.doubtnut.com/l/_4ezRKVDwnOmK

A.P-4,0Q-3,R-2, S-1

B. P-4, Q-1,R-2, S-3

C.P-3,0Q-2,R-1,5-4

D. P-3, Q-4,R-1,S-2

Answer: B

o Watch Video Solution

Assertion Reaction Type

1. In the given figure, AD = DC & AB = BC, then prove that

AABD =~ ACBD.


https://dl.doubtnut.com/l/_4ezRKVDwnOmK
https://dl.doubtnut.com/l/_7XmTrT7LSdcb

B

o Watch Video Solution

2.In the given figure, CD 1. AB, BE | AC and CD = BE, then prove

that/BCE = ZCBD.


https://dl.doubtnut.com/l/_7XmTrT7LSdcb
https://dl.doubtnut.com/l/_zf0Tlv2C9GN3

o Watch Video Solution



https://dl.doubtnut.com/l/_zf0Tlv2C9GN3

3.In the given figure, AABC = 7
A

o Watch Video Solution



https://dl.doubtnut.com/l/_ATzrhzAYTXIo

4.n the adjoining figure, prove that AABD =~ AACD,

o Watch Video Solution



https://dl.doubtnut.com/l/_yCVyRX2xdp0d

5.In the adjoining figure, BC = ED, then, prove that AABC = AFDE.

o Watch Video Solution

Comprehension Type


https://dl.doubtnut.com/l/_AvcZl8X7RSmg

1.In given figure, FE = AC, AABC =~ _

A I
= It
F [
A.ADEF
B.AFDFE
C.ADFFE
D.AFED

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RivSON5Y9WBb
https://dl.doubtnut.com/l/_qL2U4Kz8qhVV

2.In the adjoining figure, ABCD is a parallelogram. find the measure of

/ZBCE.

A.40°

B. 140°

C.60°

D.80°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qL2U4Kz8qhVV
https://dl.doubtnut.com/l/_x8XJCRPY9qB9

3.In the given figure, AACB is congruent to

A B

A.AECD

B.ADCE

C.AACE

D.ABCD


https://dl.doubtnut.com/l/_x8XJCRPY9qB9

Answer: A

° Watch Video Solution

4. CF and AE are equal perpendiculars on BD, BF = FE = ED

..'

ABCD is a

A. Rectangle

B. Square


https://dl.doubtnut.com/l/_x8XJCRPY9qB9
https://dl.doubtnut.com/l/_as2ee0ZqIzPd

C.Rhombus

D. Kite

Answer: A

° Watch Video Solution

5. CF and AE are equal perpendiculars on BD, BF = FE = ED

"‘

AABE is congruent to


https://dl.doubtnut.com/l/_as2ee0ZqIzPd
https://dl.doubtnut.com/l/_JEjt7mpx5Xbx

A.AAED

B.ABFC

C.ACDF

D.ABCD

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JEjt7mpx5Xbx

6. CF and AE are equal perpendiculars on BD, BF = FE = ED

"‘

/BAE = _

A.ZBCD
B.ZCBA
C.LADC

D.ZDCF

Answer: D



https://dl.doubtnut.com/l/_1eDMC3LXsrBa

| o Watch Video Solution

Subjective Problems Very Short Answer Type

1. In the given figure, AB = CD and AD = CB. Prove that

AABD =~ ACDB.

o Watch Video Solution



https://dl.doubtnut.com/l/_1eDMC3LXsrBa
https://dl.doubtnut.com/l/_h0Abo64rdWss

2. In the given figure, ZSPR = ZQRP and /RSP = /PQR. Prove

that PQ =RS.

K

" i |

o Watch Video Solution

3. In the given figure, we have AO = BO and CO = DO. Prove that

AAOC = ABOD.


https://dl.doubtnut.com/l/_TufN7JyAiAIE
https://dl.doubtnut.com/l/_AaxaxZPAFV5J

4

° Watch Video Solution

4.In the given figure, APQR = A

E m X

.
in -
‘HA\ Ai
o & o K ¥ 5o Fa

o Watch Video Solution



https://dl.doubtnut.com/l/_AaxaxZPAFV5J
https://dl.doubtnut.com/l/_1kikTVOmm2f9

5. In the given figure, PL | OA and PM 1 OB such that OL = OM.

Prove that AOLP =~ AOMP.

L] 4

T

&l

o Watch Video Solution



https://dl.doubtnut.com/l/_7MxrO3TToOPF

6. In the given figure, APQR = A

° Watch Video Solution

7.1n the given figure, AARO =~ A



https://dl.doubtnut.com/l/_Rgu7hZGK2KuQ
https://dl.doubtnut.com/l/_9YMNR7OjpFJF

| @Y Watch Video Solution

8. In the given figure, AC = AE, AB = AD and /BAD = /EAC.

Prove that BC = DFE.

o Watch Video Solution



https://dl.doubtnut.com/l/_9YMNR7OjpFJF
https://dl.doubtnut.com/l/_exj2oPxdjBjF

9.In the given figure, D and E are the points on the base BC of AABC
such that BD = CE, AD = AE and ZADE = ZAED, prove that

AADB =~ AAEC.

A

o Watch Video Solution

10. AABC is an isosceles triangle in which AB = AC

BM 1 AC and CN 1 AB. If AN = AM, then Prove that


https://dl.doubtnut.com/l/_ukzdSUjJJQGp
https://dl.doubtnut.com/l/_d07Q8jX6CkvK

ABMA ~ ACNA.

o Watch Video Solution

Subjective Problems Short Answer Type

1. State whether the following triangles are congruent or not.



https://dl.doubtnut.com/l/_d07Q8jX6CkvK
https://dl.doubtnut.com/l/_6vAL2uGPpona

o Watch Video Solution

2. Study the given and prove that APQR is an isosceles triangle.

o Watch Video Solution

3. In Figure, it is given that
LM = MN, QM = MR, ML | PQand MN 1 PR- Prove that

PQ = PR

I ° Watch Video Solution


https://dl.doubtnut.com/l/_6vAL2uGPpona
https://dl.doubtnut.com/l/_6yEhECLP71s3
https://dl.doubtnut.com/l/_5O9BJM5hBhTY

4. In the given figure, AB = AD and /1 = /2. Prove that :

AABC = AADC

o Watch Video Solution



https://dl.doubtnut.com/l/_5O9BJM5hBhTY
https://dl.doubtnut.com/l/_hasQSlKYAkl5

5.In the given figure, AB = AD and /1 = /2. Prove that : BC =DC

° Watch Video Solution

6. In the given figure, Ab = CD and ZABC = /DCB = 90°. Prove

that AC = DB.


https://dl.doubtnut.com/l/_N7FlS66niMj4
https://dl.doubtnut.com/l/_NaZAW0F7b3mo

n

o Watch Video Solution

7.Prove that A ABD =~ ACDB.

r



https://dl.doubtnut.com/l/_NaZAW0F7b3mo
https://dl.doubtnut.com/l/_4SG5pJXQYHA4

| o Watch Video Solution

8. PQR is a triangle in which PM is the bisector of /P and PM | QR
. Prove that:

APMQ =~ APMR

ﬂ'

o Watch Video Solution

9. PQR is a triangle in which PM is the bisector of /P and PM 1 QR

. Prove that:


https://dl.doubtnut.com/l/_4SG5pJXQYHA4
https://dl.doubtnut.com/l/_fsu5bWBzhTux
https://dl.doubtnut.com/l/_pN6m9RRDFXKU

OM =RM

o : K

o Watch Video Solution

10. In the figure AB| | XY. BX and AY are the transversals

intersecting at O, such that OA = OY. Show that AOAB =~ AOY X.


https://dl.doubtnut.com/l/_pN6m9RRDFXKU
https://dl.doubtnut.com/l/_nl6Rn6XdeRCe

-

A » i

° Watch Video Solution

1. In the given figure, /BAC = ZCDB and ZACB = /DBC.

Prove that AC = DB.

o Watch Video Solution



https://dl.doubtnut.com/l/_nl6Rn6XdeRCe
https://dl.doubtnut.com/l/_RN0xaGeSGM62

12. In AABC, BD and CE are perpendicluars to the sides AC and AB

respectively and BD = CE. Prove that ABCD =~ ACBE.

4

H -

o Watch Video Solution

Subjective Problems Long Answer Type



https://dl.doubtnut.com/l/_RN0xaGeSGM62
https://dl.doubtnut.com/l/_4vHuAjlvC761

1.In the given figure, AB = AD and ZBAC = ZDAC.Then

() A =~ AABC.

o Watch Video Solution

2.In the given figure, AB = AD and /BAC = ZDAC.Then


https://dl.doubtnut.com/l/_GM3AYQ4Y5yav
https://dl.doubtnut.com/l/_VjNTrNYeHd7L

o Watch Video Solution

3.In the given figure, AB = AD and ZBAC = ZDAC.Then

(i) ZBCA= .



https://dl.doubtnut.com/l/_VjNTrNYeHd7L
https://dl.doubtnut.com/l/_xNOg4hlGlRQd

| o Watch Video Solution

4.In the given figure, AB = AD and /BAC = Z/DAC. Then

(iv) Line segment AC bisects __ and

¥

° Watch Video Solution

5. Two triangles ABC and CDE are such that AC = EC, BC = DC,

/E =60° and /DCFE = 30° and /B = 90°. Show that the


https://dl.doubtnut.com/l/_xNOg4hlGlRQd
https://dl.doubtnut.com/l/_56hkCRaQejkS
https://dl.doubtnut.com/l/_LRqPUxKS4JTF

triangles are congruent, (see the figure below).

F

o Watch Video Solution

6. Prove that ASQR and AT PR are congruent and SR = TR.

5 T

o Watch Video Solution



https://dl.doubtnut.com/l/_LRqPUxKS4JTF
https://dl.doubtnut.com/l/_Ijf36CNprXI3
https://dl.doubtnut.com/l/_vm2co5J6NSYc

7.AB =Dc and LZABC = /DCB. Prove that:

AC=DB

*

o Watch Video Solution

8.AB =Dc and ZABC = /DCB. Prove that:

DB =CA


https://dl.doubtnut.com/l/_vm2co5J6NSYc
https://dl.doubtnut.com/l/_OwRb097fIybe

o Watch Video Solution

9. In the figure below, APQR is an isosceles triangle in which

PQ = PR.PSis the bisector of ZP. Show that


https://dl.doubtnut.com/l/_OwRb097fIybe
https://dl.doubtnut.com/l/_zoWaBloMdUTv

EI .

APQS =~ APRS

o Watch Video Solution

10. In the figure below, APQR is an isosceles triangle in which

PQ = PR.PS is the bisector of ZP. Show that


https://dl.doubtnut.com/l/_zoWaBloMdUTv
https://dl.doubtnut.com/l/_UgnESL0OdqCJ

o Watch Video Solution

Olympiad Hots Corner

1.In two triangles PQR and LMN, PQ = QR, /P = /M and QR = LN,

then which of the following is true?


https://dl.doubtnut.com/l/_UgnESL0OdqCJ
https://dl.doubtnut.com/l/_lIO0OGDr7gg2

A.Triangles are congruent only

B. Triangles are isosceles only

C. Triangles are both congruent and isosceles

D. can't be determined

Answer: D

o Watch Video Solution

2.In the given figure (not drawn to scale), ABCD is a square such that

AE = DE. Find ZBEC.


https://dl.doubtnut.com/l/_lIO0OGDr7gg2
https://dl.doubtnut.com/l/_8ZMg9XmMClDB

A. 28°

B.56°

C.62°

D. 24°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZMg9XmMClDB
https://dl.doubtnut.com/l/_9me6IVvZzulF

3. Which of the following triagnles is congruent to the given triangle?

Hm Lty
A Em
S5m
J0°
Am



https://dl.doubtnut.com/l/_9me6IVvZzulF

B m

Answer: C

o Watch Video Solution

4. In the given figure, which of the following is correct?

F 3% o W
45"



https://dl.doubtnut.com/l/_9me6IVvZzulF
https://dl.doubtnut.com/l/_NykgeHz1RQ9P

A.APQR ~ ARSP

B. APQR =~ ASRP

C. APQR =~ ARPS

D.APQR =~ ASPR

Answer: A

o Watch Video Solution

5.In the given figure, state whether the triangles are congruent and

choose the correct order.


https://dl.doubtnut.com/l/_NykgeHz1RQ9P
https://dl.doubtnut.com/l/_ayADtADUn5Zh

A.Yes, AABC =~ ADCEFE

B.Yes, ADCFE =~ ACBA

C.Yes, ADEC ~ ACAB

D. can't be determined

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ayADtADUn5Zh

6. Triangles DEF and LMN are both isosceles with DE = DF and LM = LN,
respectively. If DE = LM and EF = MN, then, are the two triangles
congruent? Which condition do you use? If /E = 40°, what is the

measure of ZN?

A/A = /L
B./B=/M
C./ZC =«ZN
D. All of these
Answer: B

o Watch Video Solution

7. By which congruency criterion, the two triangles in the given figure

are congruent?


https://dl.doubtnut.com/l/_al7ZQtXKbk7J
https://dl.doubtnut.com/l/_t2E8oK7YNjW4

A.RHS

B. SSS

C. SAS

D. ASA

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_t2E8oK7YNjW4
https://dl.doubtnut.com/l/_HLBNnC6Kd9lD

8.In the given figure, M is the mid-point of both AC and BD. Then

A it

A/l = /2
B./1 =/4
C./A2=/4
D./1 = /3
Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_HLBNnC6Kd9lD

9.In an isosceles triangle XYZ with XY = Xz, XP bisects the base YZ.

Which of the following congruence criterion can be used to conclude

that AXYP ~ AXZP?

X

A.RHS

B. SSS

C. ASA


https://dl.doubtnut.com/l/_HLBNnC6Kd9lD
https://dl.doubtnut.com/l/_PNJL2sR9M0Y3

D. None of these

Answer: B

o Watch Video Solution

10. In two triangles ABC and FDE, /B = /D = 90°, AC = FE and BC =

DE.Then ZF'= .

A ZC

B. LA

C.4B

D. can't be determined

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PNJL2sR9M0Y3
https://dl.doubtnut.com/l/_mnHP0p81zbmt

